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1. Let f(x) = e” + z.

(a) (5 pts) Show that f(z) is invertible.
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(b) (5 pts) Find ¢'(1), where g is the inverse of f.
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2. (10 pts) Find
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3. Evaluate the following limits:

(a) (10 pts)
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(b) (10 pts)
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4. Evaluate the following integrals:
(a) (5 pts) |
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5. True/False Circle the correct answer (2 pts each). You do not need to justify your answ els.
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(b) True /.rli—{lﬁlcln('r) =0. P Obeuvm(
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(d) False: If f is one-to-one with inverse g and f is increasing on its domain, then g is
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(e) False: If f is differentiable, then /-f(.'r)(l;r =xf(x) —/ af (x)dz
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